Solving One and Two Step Equations

Solve these equations.

@ x+6=11 (b) x+11=6
(C)RBEGA= 158 (d)B3:26=9.8
@) w=8=1ll] ) 2=1=5
(g)ESEsci—¥1 OB (h) 12,3 =4.5/— X

Solve these equations.
(&) &=l (b) 8x = 64
(&) 2z =S (dFf =2x =6

x_ x_
(e);—S (f);—s
(9) 10=5 (h) §=—7.5

Solve these equations.
@) Zeesr =dlls s () b = A
RGN/ 2 =81 3WeN(d) ] 3+ 2x = 7
| () 2x+13=7 (f) 3x+1=10
(GRS =l — 0% (h)¥ 17.= 3x — 1

Solve these equations.

(@) 6—2x =14 (b) 20=2 — 6x
(G)E3L=3x =2 (d)7i= =110
eBI8E 5T — 3= () 6/=5—2x
(g0 95=2—-3x (h) 6.3—x=8.9

(@) The perimeter of this rectangle is
472 cm. Find its area.

| 3cm

(b) The area of a triangle is 75 cm?. If its
base is 3x cm and its height is 20 cm,

find the value of x.

(=5 (k)=
(@kc=vi (e 66
() oc=13  (F) ==13
(=1 (W) =22

@)iec=5 @) x=3
(e) o=~ 1.9 (d) = =5
(edx=1o (f) x=20
) oc=30 (h) x=-22-9

(o) o=l (o) oc=11

(c)oc=3 () =S
(e) oc=-3 (€) D=

—:-/\ =
[y =214 () =58

(a) cc=-i+ (b)) 0e=-3
@od=24 (A x=-3
(eyx=2 (f) oc="%
(o x=-2.5 (h) oc=-2.6

(@) ¥dx+b=42
o= 3b
oc=4.H
Az 1% = Bircon™
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